HIOKI
LR8450-01 XEUNTOH—H
i B
Wireless Modules Dedicated to
LR8450-01 Memory HiLogger

A% EHEAZ | Instruction Manual
JA/EN

LT
600544523

Apr. 2024 Revised edition 3
LR8530A960-03

HIOKI

www.hioki.co.jp/
A4t T386-1192 RHE FHM/NR 81
BROBMLADE

8.0120-72-0560 9100 ~.12.00, 13:00 ~ 17:00
TEL 0268-28-0560 FAX 0268-28-0569  info@hioki.co.jp

12 - RIEDEHWEDLE
CHRERELE (REE) TERFOOERMATT
BEWELERIY—EXBOXT

TEL 0268-28-1688  cs-info@hioki.co.jp

RE - 2T BETREAR
-CEEAEEREHEV I TYA S IV O—RTEET,
CAEORBARZFELREREI B ENBDET,
cABICIIBFEC I DRESNIABIEENET,
FABORBEEWM TEHT - BR - REITSICERELET,
CABCRHSN TV EIRA - BRAREE. BHOBERIIBRHETT.

2103 JA

Printed in Japan

R E

i3] SLEES FRILHAR
BAH F AhS 3 ERH

HIOKI

BERO R T
BEH:
BEBEANOBHEN
RABEBETVCLEFADT, RTIIKREL TS,
ST - BUEES - AR BEU TSR - 8B ETRBALLEI W,
KTRBAWCEE E UBEABRIGEEY — C 20RME & CRIOBNOHITERALHT,

AR OBIBICH S TREICAR LT EZBLET . FRIDPWEL BRI, BEWRSEICTE
BREV, UTORINBICRL, ARREEBELRIFRICTRLET, TEEOBRIE. AB% SRR
SN

RIERE
1. REEAER R, ARSEMNEBCENETZ I E2RIEL T, REPHIBARN S 3FHTYT. BABLTRH
BIBEIE. ARBOBEFA BEHESOL 4T 15 3FHEREPHELET,
2. ABERICACT I TH—HEBLTWSBHA. ZDAC 7Y 745 —ORIHBIEWEAEN S 1 FETY,
3. AEMER E DREORIEAREIE. RELRICIFRELTVWET,
4. ENZNORIMERICEARRICIEAC 7T T - EELIBE. TOBEOIENKILICH B £ D
T L fc & Eld. ABREIFAC 7Y 79— RETERE 3R ERBULET,
5. LT O®ME, BESE R BEERFCBHIRBORIEONRIIELET,
-1OHER. AESIRGEOBEEBE
2. ARV — TR EDWELES
3. BEWLFROERE, BT, BRELILLIBELIRE
-4, BURSIAE. ARERIANL, AR EICBRSNCNBICRY 2FTETEERD FWIC L ZHE & B
5ED. MRSABGETERSNLCRT - RRERS I LICK D RE LR BE
6. XKL EKE. R EE. BRORE (BE. AREUGLE). 8% - R, BKEESR. Z0ENOFRA
A & BHEE & B
1. ABORE (ER0R. B, BERLE)
-8. ZDENZOHIENEAICH B & HBRSNIZWERE EEE
6. UTOHERF. FAURERIEOTRNELET, BE. REBEOHMOLET,
S1LBHBUSN OB, #BE. B UK READVFRIEBELIBE. BRELSE
2 KBHGAR (FEA. MEAR. BRFNA. ERA. EMtlHAsE) ORBICARRERFAATERT S

T %, BRICEAIC BBV DN RVES

7. BREFRLLIEICEDREVBRICNU TR ZOBRKOBEENEILICH 2 HEANHIM LS. &

WEOBASEETEMBELES, £LL. UTOBRKICHL TRBELELA,

1 ARREFERLU LT EICLDREVFAEYOBEICRERYT 2 ZRNRXEE

2. ABRICLDAEDRERICERT 21BF

B ABRBEBVCERLEL (XY NT—UBREHOERESD) ARBUAOKBADEE
8. Wi EHEERBLLRE. SLUMROEEPLE NUOBEROREREICL DERETELVWERAG,
B, REBEERMDIZZENHDET,
H—E Rk

%£BA8 Y—EIRE

BES R E T

https://www.hioki.co.jp/

18-06 JA-3

ot
LR8450-01 DRIy MIIFRDTENH D £7

LR8530 TAVLXEE-RBEIZvV
WIRELESS VOLTAGE/TEMP UNIT
LR8531 |7A4VvLXa2ZN—H%)La=Zv b
WIRELESS UNIVERSAL UNIT
LR8532 TJAVLREEX-EEIZv
WIRELESS VOLTAGE/TEMP UNIT
LR8533 A VL AEEEEI=vY b+
WIRELESS HIGH SPEED VOLTAGE UNIT
LR8534 A VL RVFTAHIZvVhH
WIRELESS STRAIN UNIT
LR8535 [TAV¥LXCANZ1Z=v k
WIRELESS CAN UNIT
LR8536 TAVLXEBERE 2L
WIRELESS CURRENT MODULE
IEL®IC
C DT, HIOKI LR8450-01 XE /N1 OH—FHEiR
Ty RETEEVWLREE HICHDNESTITVET, EIR
d=w bid Z3231 #ERLAN 7 X T2 2B D413 Z & T

LR8450-01 ICEMRER TSI T T FALDIER, ey
DFFMIE. LR8450-01ICHEBD I A v IR E— bR Za”
ILE L VEERERRE S5iiR (PDF) 2 CELE S L,

RLICRT SR
FETIE URIDERMESLVBREDLNLEUTO &
SICRSDLTREL £ T

A f- Bﬁ EhEE LW E. ‘T FEIFEEDOEEICOBGMD

< ThE LR a ke T L E T,

Z&gtt B LBV E, FEXRIZEEDOHESICOR
= B R0 B3EENICERAREERLET,

/N B

EEt LBV, BEXLIIFEDBEICOBHNDE
ZRENICHRBRR. ELEIVRER (XEE
DHDIE) HNKIBT B BENBR U X ZTLET,

HWaERE

O LR8530 74V L XEBE - BEIZ=v k
LR8531 D4V L XRaAZN\—H)L21=Zv k
LR8532 71/ VL REE - BEI=v bk
LR8533 71V L AE&REETI=w b
LR8534 74V L XVDTAIZwY ~
LR8535 714V L XCAN1Z v

LR8536 A VL RERED a—JL »ooeeeeeee wgnhi
O 23231 ﬁgﬁ.ﬁLAN 7@7& .................................... 1
O Z1008 AC 74 74 (B 2/WER D — I¥) -+oeeveevee 1
O Hyﬁ-;‘:& ............................................................... 1
O ML M3 X 4 MM cererrrrerrremenreeeeeeen 2
O #EESESAN)L (LR8534 @gj) .............................. 1
O :\:‘\”“jj(LR8536 @g,) ....................................... 5
| Hy:_l:&gﬁﬁﬁ% (2'_(%) ................................................ 1

BREICHTEER

BIEOKRIE. 23231 #FELAN 7R 2B DO 4% L. Z3231
EFEGEI =y b —REICRB LTIV,

\ERLANICOWT

LR8450-01 XEU /N1 OH—& 23231 EIFLAN T X T4
¥ 2.4 GHz FEOEBRZERBLTVET, AEmZHEAYT
3 L TERBORFIIBEDD FEAD. ROZLICTIEER
TSV,

BOEAR—ZAX—h—HBEOERBEBDEL TER
LA
O FERDODBEHR—IA—H—PEEEEDEEIC
HEERIFL. BEEICLZERESITRTHZ
nhHn 9.

AE s
B EEEESE. EFORECHEIR. MEFHESS. &3
DEPBEL Y DARICEDBRECRE. BT
BELEEMESEL T3RHEPREDS XIFLT
O  usmLAaL
CNEORRICARSEFERAL. ASSHK. BEA
EHELTHERITUHDRZIEEDBEVDRET,

ANz &

B E—ORREFEZERT 3 thDEREEHBDEL

T. LR8450-01 r 21 = v FEEALAL
EENRREICH 10, HOBEOBIEICHEE
Ex1-0F5BENDBDET,

= LR8450-01 L & 1= (23231 MZLAN 7 &
7%) it ThENORIOBERHREL T30 mIURK
BB &5 ICRETS

© = LR8450-01 L EQI= v X DRIICEEY) (2. £/8
DEMRE) MEVWELSICKRET S

BENFRLEICK>T=D. BEERHIAELHoD
TERIEENLHDFET

®ig1=w bICZ3231 ZHID(F115
Az E

WZ3231ICRASNTVBRLZERATS

O ETLNORLEFERATZ L. EE1=y MHEEIE
TEBEINHBD T,
1 #%1-v rOBEEYID. ACTHTRENT

ANT—=TIEERLBVWTLEE L,

HIOKI LR8530A960-03

2 EHI1=v o LEEIC
73231 B LAN 74 7R
ZRETD
Z3231%BETL>HD
ZELRAATIET L,

3 z3231icEBEIhTWVS
RLEHHRITS

EICHD ST
Az B

EM3 X4 mmoaMALzERYT 3
BEUNDRLZERT 3. EBIHNWIELD. BT
WHOBEFEIZY bHANTEDTEEENLHD £,

BRI, BEGELGCICL>DD D HFIFS
BRSEICE D, ABSERELIFERIZ-Y FOESR
FIFERITEENDLHD XY,

BET2H0  BOMITHERLEMA X8 mmBLL -eeeeee 2
HRTT_H;& ({TJE%) ................................. 1
mln[‘/‘ M3 X 4 mm (17_”%%) .................. 2
7’5} ]:5,]//\“_ (NO.2) ..................... 1

1 fBROM3 X4 mmapmil
2AKT. BIEI-—y FOLEE
ICER{HREED 1313 3

[ 5 =]

y.:

2 MAnU2AT, BMfHR%EEE
ICERD 3 B
B I BORLIETELTL
FHADT, HRG%E CERL
T,
HERL M4 X8 mmlE




HIOKI

Wireless Modules Dedicated to

LR8450-01 Memory HiLogger

Instruction Manual

EN

Apr. 2024 Revised edition 3
LR8530A960-03

HIOKI

www.hioki.com/

HIOKI E.E. CORPORATION
81 Koizumi, Ueda, Nagano 386-1192 Japan

All regional
contact
information

2402 EN
Printed in Japan

Edited and published by HIOKI E.E. CORPORATION

-Contents subject to change without notice.

This document contains copyrighted content.

«Itis prohibited to copy, reproduce, or modify the content of this document without permission.

-Company names, product names, etc. mentioned in this document are trademarks or
registered trademarks of their respective companies.

Europe only
«EU declaration of conformity can be downloaded from our website.
«Contact in Europe: ~ HIOKI EUROPE GmbH

Helfmann-Park 2, 65760 Eschborn, Germany hioki@hioki.eu

Warranty

Warranty malfunctions occurring under conditions of normal
use in conformity with the Instruction Manual and Product
Precautionary Markings will be repaired free of charge. This
warranty is valid for a period of three (3) years from the date
of purchase. Please contact the distributor from which you
purchased the product for further information on warranty
provisions.

Model names

Seven different types of wireless modules are available for
the LR8450-01.

Safety notations

This manual classifies seriousness of risks and hazard levels
as described below:

Indicates an imminently hazardous situation
that, if not avoided, will result in death or serious
injury.

A\ DANGER

Indicates a potentially hazardous situation that,
AWARNING if not avoided, could result in death or serious
injury.

Indicates a potentially hazardous situation
that could result in minor or moderate injury
AUTION L
A CAUTIO or potential risks of damage to the supported
product (or to other property) if not avoided.

Package Contents

O LR8530 Wireless Voltage/Temp Unit

LR8531 Wireless Universal Unit

LR8532 Wireless Voltage/Temp Unit
LR8533 Wireless High Speed Voltage Unit
LR8534 Wireless Strain Unit

LR8535 Wireless CAN Unit

LR8536 Wireless Current Module ...... Any one of them
O Z3231 Wireless LAN Adapter .........ccccovviiiiinnnnnnn. 1
O Z1008 AC Adapter

(3-prong grounded-type power cord) .............cevennnnnn. 1
O Mounting plate...... ..o 1
O Flat-head screw M3x4 mm ........cooociiiiiiiiiiiiien, 2
O Connection confirmation label (LR8534 only) ............ 1
OO Cap (LR8536 0Nly) ...cvieiiiieei e 5
O Instruction Manual (this manual) .................ooeen. 1

When Sending the Module for Repair

Detach the 23231 Wireless LAN adapter from the wireless
module and pack both of them.

Wireless LAN

/\ WARNING

B Do not use the product in the following

applications: medical use, nuclear power,
aerospace, those involving human lives such
as transportation, and those requiring high
reliability.

Hioki shall not be held liable for any accidents
resulting in injury or death or damage to the product
(or to other property) caused by use of the product in
such applications.

/\ CAUTION

E Do not use the LR8450-01 and its wireless

modules near other wireless communications
devices that use the 2.4 GHz frequency band.

Doing so may cause unstable communications or
affect the operation of other devices.

Install each wireless module (Z3231 Wireless LAN
Adapter) within a line-of-sight distance of 30 m
from the LR8450-01.

Keep clear of any obstacles, such as a wall and
metallic object, between the LR8450-01 and each
wireless module.

Failure to do so may cause unstable communications
or shorten a communication distance.

Attaching the 23231 to the

Wi

reless Module

/\ CAUTION

Use the captive screw of the Z3231 only.

Using another screw can damage the wireless
module.

Turn off the wireless module and disconnect the AC

Adapter.
Do not connect any input cables.

2 Attach the Z3231 Wireless LAN Adapter to the top

The LR8450-01 Memory HiLogger communicates with the
73231 Wireless LAN Adapter using radio waves within the
2.4 GHz frequency band. No radio station licenses are

required; however, make sure to note the following points:

side of the wireless module.

Insert the Z3231 as far as it will go.

LR8530 |Wireless Voltage/Temp Unit
LR8531 Wireless Universal Unit

LR8532 |Wireless Voltage/Temp Unit
LR8533 |Wireless High Speed Voltage Unit
LR8534 |Wireless Strain Unit

LR8535 |Wireless CAN Unit

LR8536 |Wireless Current Module

Introduction

Thank you for choosing the wireless module dedicated to
Hioki LR8450-01 Memory HiLogger. The wireless modules
can wirelessly communicate with the LR8450-01 by attaching
the 23231 Wireless LAN Adapter. For more information, such
as operating precautions and specifications, see the Quick
Start Manual and Instruction Manual (PDF) included with the
LR8450-01.

B Do not use the product near any medical devices,
including a heart pacemaker.

© Radio waves emitted from the product can cause

medical devices, such as a heart pacemaker, to
malfunctions, resulting in accidents.

HIOKI LR8530A960-03

Mounting the Wireless Module
on a Wall

/\ CAUTION

B Use the M3x4 mm flat-head screws only.

Using other screws can damage the wireless module
or cause the wireless module to detach from the
mounting plate.

© =Properly secure the mounting plate on a solid

wall.

Failure to do so can cause the wireless module to
fall, causing an accident resulting in injury or death or
damage to the wireless module.

You will need:

Mounting screws M4x8 mm or longer.........c.ccccvveeeeennee. 2
Mounting plate (aCCESSOIY) ...ouvviiiiiiiiiiiiiiiiiieeeeee e, 1
Flat-head screws M3x4 mm (acCesSOry) .........ccccvveeeunen. 2
A Phillip’s head screwdriver (NO. 2)........cccoevvivieveeieiinnnn. 1

1 Secure the mounting plate onto the rear of the
wireless module with two flat-head screws
(M3x4 mm, accessory).

2 Secure the mounting plate on a wall with two M4
screws.

No mounting screws come with the wireless module.
Use commercially available screws.

Recommended screws: M4x8 mm or longer




	JA
	EN



